Honors Math 2			S2016				Name:__________________________
Unit 1 Review							Date:________________ Block: ____
Multiple Choice: Select the correct answer. Write your answer on the line provided.
[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\75.png]1)													1) ________





[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\76.png]
2)  													2) ________



[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\77.png]													
3) 													3) ________
1)  				



4) 													4) ________
[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\78.png]

													


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\79.png]5) 													5) ________
 


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\80.png]
6) 													6) ________


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\81.png]
7) 													7) ________
 



[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\82.png]Use the figure for questions 8-10.
[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\83.png]8) 													8) ________
 



[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\84.png]9) 													9) ________


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\85.png]10) 													10) _______

[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\86.png]11) 													11) _______
[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\87.png] 
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12) 													12) _______
 




[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\89.png]13) 													13) _______
 

[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\90.png]
14) 													14) _______
 


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\91.png]
15) 													15) _______



Free Response: Answer the following questions. Show all work for full credit!
[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\93.png]16) Given A (1, 2), B (1, 4), and C (3, 4), find the image of [image: ] under a counterclockwise rotation of 90 degrees about the origin. Graph the pre-image and image. Label your pre-image and image points on the graph. Write the coordinates of your image points on the lines provided. 
A’ __________

B’ __________

C’ __________








[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\92.png]17) Draw the image of figure F after a reflection over line m. Label the image and shade where appropriate. Write 2 observations comparing the pre-image to the image. You must write a complete sentence for each observation.Observation #1 (one complete sentence): _____________________________________________
_____________________________________________
_____________________________________________
Observation #2 (one complete sentences): 
_____________________________________________
_____________________________________________
_____________________________________________

				







[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\94.png]18) Using the figure provided, write a translation rule for each of the following both algebraically and in vector notation.

Figure 1 to 2: _________________________________

Figure 4 to 3: _________________________________

		

[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\93.png]19) Graph and label a triangle with vertices A (1, 5), B (4, 1), and C (5, 6). Apply a translation with the rule (x, y) -----> (x – 1, y – 2).  Label and write the coordinates for triangle A’B’C’. Then reflect triangle A’B’C’ over the x-axis. Label and write the coordinates for triangle A’’B’’C’’. 

A’’ __________

B’’ __________

C’’ __________

A’ __________

B’ __________

C’ __________







20) Draw a triangle DEF and line m intersecting the triangle. Draw the reflection image of triangle DEF over line m. Label the image points. 






21)  	Given [image: ] [image: ] and [image: ], draw and label the triangles.  
	Find [image: ] and [image: ]									21)_________

A. 22
B. 11
C. 10 
D. 25

22)	Which pair of triangles is congruent by ASA? 					22)_________[image: ][image: ]
A.                                                                            B.

[image: ][image: ]
	C.                                                                             D.  



23) [image: ]In triangles to the right, .




Which two statements identify corresponding congruent parts for these triangles?
A. 
B. 
C. 
D. 
24) BOY  DEA.  [image: ];   ;   ;  .  Find x.		24)_________





25)  	EXC  STP.  [image: ];   [image: ];  [image: ].  Find 	25)_________





26)		Calculate the value for x, y, and z.  
		
											x = ________
	 	
											y = ________
	 
	 									z = ________
								


27)  Given the following image, explain how you know using rigid motions that map . 
Assuring that .
[image: Screen Shot 2013-05-14 at 1]	Write complete sentences:  _____________________________________________
_____________________________________________
_____________________________________________






28)  Find the value of x.						29) Find the value of x.
[image: ][image: ]






30) ∆PQR  ∆XYZ.  List three pairs of congruent angles.
____________________		_____________________		____________________


31) Suppose ∆ABC  ∆EFG.  For each of the following, name the corresponding part.



 :  ______________  		:   ______________  	           :  _______________

[image: ]
32) If AB is a midsegment, find:
x = ________

y = _________

z = _________

33)  

S
R
T
10

[bookmark: _GoBack]
											RS = ___________




TR = ___________
D
F
E
13

14
16



34)  S
Q
V
15
2x + 4


N
M
P
10
x + 3







x = ___________

NP = ___________

QV = ____________

35)	Assuming the two triangles are similar, find the tower's height from the given measurements below.
[image: GetImage]
     


[image: https://w3apps.ednet.ns.ca/itembank/GetImage.asp?ID=ItemBank_3117_2.png]36) Looking at the triangles in the figure on the right:
a) Are the two triangles similar?
b) What is the length of QT?
c) If PT is 15 cm, what is the length of RT?
d) Is RS the midsegment of triangle TPQ? Why or why not?
  




[image: ]37)	PQR is similar to XYZ. 



      What is the perimeter of XYZ?					


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\93.png]38) 	 A figure is reflected over the x-axis and then over the y-axis.  Write the algebraic rule that would 	represent the transformation from the pre-image to the final image.  Use the grid if you so choose.

							Describe the single transformation from the pre-image
							to the image: _________________________________







Write the Algebraic Rule for the Following: 					Use the coordinate plane if needed.


[image: C:\Documents and Settings\Administrator\Application Data\PixelMetrics\CaptureWiz\Temp\93.png]39.	Rotate 				__________________	

40.	Reflect over x-axis			__________________


41.	Reflect over  			__________________


42.	Rotate  				__________________

43.	Reflect over y-axis			__________________


44.	Reflect over  			__________________


45.	Rotate  				__________________


Solve each system of equations
46.  8x + y = 17							47.  3x + 4y = 12
      -4x – 3y = 9							       5x + 3y = 1





48.  y = x + 5 							49.  2x + 3y = 12
      x + y = 9 								      2x – y = 4
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Which of the following words, when reflected in a vertical line, will be
identical to the original word?

A DECIDE

B MOM

C DOG

D ABIDE




image5.png
If a figure is reflected in the x-axis and then it is reflected in the line

y = x, it would be the same as which of the following counterclockwise
transformations?

A reflection over the y-axis

B rotation of 90°

C rotation of 180°

D rotation of 270°




image6.png
If a figure is reflected in the y-axis and then rotated 180°, it would be
the same as which of the following transformations?

reflection in the x-axis

rotation of 90°

rotation of 180°

rotation of 270°

OO WD
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Which of the following words remain unchanged when reflected in a
horizontal line?

A wow

B ICEBOX

C BRIDE

D TOOT
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image9.png
Write the coordinates of the image of each
point by reflection in the x-axis.

A A4(0,0), R(—1,4), T'(—4,2)

B A0, 0).R(4, ,T'(z 4)

C A0, 1), R(—4, 1), T'(—4, —2)

D A0, 0), R'(1, —4), T'(4, —2)




image10.png
Write the coordinates of the image of each point by reflection in the

y-axis.

A 4(0,0), R'(—1,4), T(
. T

3 4,2) B 4'0,0), R'(4, 1), T'(2, 4)
C A0, 1), R'(—4, 1), T'(

4,-2) D A40,0), R'(1, —4), T'(4, =2)




image11.png
Write the coordinates of the image of each point by reflection in the line

y=x

A 40,0), R(—1,4), T(
. T

3 4,2) B 4'0,0), R'(4, 1), T'(2, 4)
C A4(0,1),R(—=4,1), T

4,-2) D A40,0), R'(1, —4), T'(4, =2)




image12.png
A(0,0), B3, 4), C(5. 1), and D(—1, —3) are points on a graph. Apply the
transformation (x, y) — (x + 1,y + 2).




image13.png
Find the images of points 4, B,
A A(1,2), B4, 6), C'(6, 3),[)
B A(1,2), B3, 6). C'(6, 2), D'
C A42,1),B(2,6), 3).D

) 5).D

C'(4,
D A4(0,0), B'4,3), C'(1,




image14.png
Selena was trying to put together a puzzle of geometric shapes on a
coordinate grid. One of her pieces was a right triangle. She placed it on
the grid so the 3 corners had the coordinates R(—2, 0), U(0, 0) and
N(=2, —6). She then rotated her triangle 90° counterclockwise about the
origin. What are the new coordinates R’, U’, and N'?

A R'(0,2), U0, 6), N'(6, —2)

B R'(2,0), U0, 0), N'2, 6)

C R(0.2), U0, 0), N(—6,2)

D R'(0,-2), U'(0,0), N'(6, —2)




image15.png
If P'(3, 5) is the image of P, find P using the transformation
(x,y) = (x— 1,y +6).

A P2, 11) B P2, 1)

C P, 11) D P4, —1)




image16.png
How would this transformation be
described algebraically?

A xy)—>@Ea+4y-73)

B (x,y)»@+2,y-7)

C (nyy—>@x+6,y—4)

D (x,y) >(x+3,y—4)





image17.png
R maps point P to P, and S maps P’ to P". Find T, the translation that
maps P to P". Use these translations for R and S.
R(x,y)-»x+1Ly+2),S(xy)->x—-5y+7)
Ax—-6y-5

B (x-9,y+4)

C (x+4,y+9)

D (x—4,y+9)
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mLB = v+ 4,
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Which of the following is the correct drawing when reflecting ABCD in
the x-axis?
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image2.png
Matthew is trying to visualize what
different transformations look like. One
of his drawings was transforming PENTA
into P'E'N'T"4". Which transformation

is this?

reflection in the x-axis

rotation of 90°

reflection in the y-axis

rotation of 180°
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image3.png
Ricky was in an art class in which she wanted the
polygon RICKY to be transformed to R'I'C’K'Y’
using the line p so that she could paint both of
them. What kind of transformation is this?

A reflection

B rotation

C dilation

D translation
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